8+3(x-5)+x=2(3+2x)
8+3(x-5)+x-2(2x+3)=0
8+(3x-15)+x-(4x+6)=0
8+3x-15+X-4x-6=0
-13=0

HET PEUICHUN.

x+2(4+x)=3x+8

x+2(4+x)-3x-8=0

-2x+2(x+4)-8=0
-2x+(2x+8)-8=0
-2X+2Xx+8-8=0
0=0

OTBET: X - JII000E.

%x+%1(x-2):x
0,5x+0,25(x-2)=x
0,5x+0,25(x-2)-x=0
-0,5x+0,25(x-2) =0
-0,5x+(0,25x-0,5)=0
-0,5x+0,25%-0,5=0
-0,25%-0,5=0
-0,25x=0,5
0,25x=-0,5
x=(-0,5):0,25

X=-2




1 (1
2+2(3x+1j—3x

O,5+2(%x+1j:3x

O,5+2(%X+1j-3X:O

O,5+(§X+2j-3x20

2
0,5+§X+2—3X:O

7
2,5-3X—0

7
-§X+2,5=O

7
-§X:-2,5

7
§X:2,5



